In this problem, we are trying to find the output voltage vo.
There are two operational amplifiers in the circuit.

The circuit can be divided into two stages.

We are interested in the output voltage of the second stage.

The output voltage of the first stage is the input voltage of the second stage.

Firstly, let’s find the output voltage of the first stage.

We can label this as v1.

For an ideal op-amp, the voltage across the input terminals should be zero.

In other words, the voltage of the inverting terminal should be equal to the noninverting terminal.

[math equations]

In this circuit, vn = vp = 3 volts.

We will call the noninverting input node 1.

Let’s write a KCL equation at node 1.

The current through the 1 kOhm resistor is the voltage divided by the resistance.

The voltage across this resistor is 1 volt – 3 volts.

The current is this value divided by 1 kOhm.

The current through the 3 kOhm resistor is v1 – 3 volts divided by 3 kOhms.

For the ideal op-amp, we know there is no input current.

The sum of these currents is zero.

We’ll multiply both sides of the equation by 3 k.

We can now solve for v1 which is 9 volts.

For the second stage, the input voltage is the output voltage from the first stage, 9 volts.

For the ideal op-amp, the input voltages are equal, in this case 9 volts.

Since there is no feedback resistor, the voltage at the inputs is equal to the voltage at the output.

The final answer then is vo = 9 volts.

Let’s take a look at the second stage of the circuit.

Notice that the output voltage is equal to the input voltage.

This type of circuit is called a voltage follower.

This circuit has high input impedance.  This is used to isolate two circuits from each other. 
